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Function eval(ByVal expr As String, dummy) As Double
eval = Evaluate(expr)
End Function
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Sub Start Anim()
st = (Range("'G26™).Value - Range("'E26").Value) /
20
For 1 = Range("'E26').Value To Range(*'G26').Value
+ st Step st
Range(Range(*'D26').Value) .Value = i
WaitSec (0-2)
Next
End Sub

Start_Anim Wait_Sec

Sub WaitSec(sngWaitSec As Single)
Dim dblCurDateTime As Double
dblCurDateTime = Now + sngWaitSec / 86400
Do
Loop Until Now >= dblCurDateTime

End Sub

A |B|Cc|D|E|F|G|H JIkIL[M[N]O[P[@
0753 (45 '49 4B 4F 20 '51 '54 '35 20 56 30 31 2E 30 30
7051 "54 "35 "s8 2 "1 "30 "o0 "s0 o0 "oz "oo o 13 4p 15
20 C2 16 37 (18 AC 19 B2 719 700 "00 [01 (00 (00 700 "00 "00
#0600 "19 "o "o3 "o0 "oo "oo "oo oo "oo "oo "oo "oo "oo "oo oo
46700 "00 "00 "00 00 700 "00 "00 700 700 "00 "00 700 "00 (00 "00
s0 01 3808 oF "1 "o1 38708 Mo M1 "o 3E "oe "23 M1 "o
60 36708 2011 "o 308 '37 "1 "o 309 20711 [ 3E
70700 "37 "11 "o 3E oa 20”11 "o 3E oa37 "1 "ot 3E 0B
80 2011 "01 3€ 08737 (11 "o 3E 0c 2011 "o 3E 0D 14
90"11 "o1 36 op 19 11 "o 3E oD 23 11 "o 3E oo "z8 "11
Ao"o | 3E o€ 1E11 "o 3 o€ 28 (11 "o 3E oF 1E[11 "o
go 3 oF "28 111 o1 38 Mo 18711 o1 3812 Too 11 "o 3E
co™2 oF "1 To1 3eT12 a7 "1 Tor 3 T13 Moo M1 Tor 3 i3

na"e T4 T aeTia Taa Tia Ten e Tia ae Tie Trw e Tea Tas

0|00 [~ | (EN | d (LD P [
P T T T R |
P L T T B |

AR

TN =]

=

Sub (0]
Dim oFile As String
Dim buffer(412 * 16 + 2) As Byte

Dim oFn As Long

oFile = "Output.BIN"
oFn = FreeFile

Set sref = Worksheets("'DATA™)

For r = 1 To 412

For c = 2 To 17

buffer((r - 1) * 16 + ¢ - 2) = Val("&H"
& sref.Cells(r, c).Value)

Next
Next
buffer(412 * 16) = 0
buffer(412 * 16 + 1) = 0

Open oFile For Binary As #oFn
For i =07To412 *16 + 1
Put #oFn, , buffer(i)

Next
Close #oFn
End Sub
buffer
Put



